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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.
2. Attempt any Five Questions
3. The distribution of the marks is given with the question
4.  Answers may be written either in English or Hindi;

but the same medium should be used throughout the
paper.
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(a) Examine the following conceptual issues in

compilation of monetary aggregates.

(1) Definition of money

(i) Sectorisation issue

(i) Coverage of Depository corporations

(b) Explain briefly how the money multiplier can be
made invariant to changes in cash reserve

requirement?

7.

1021 11

(a) What is flexible inflation targeting in India? Discuss
the Operating framework of monetary policy under

flexible inflation targeting in India.

(b) What are G-SIBs? Will any Indian Banks be
classified as a G-SIB? Discuss in the context of

Basel- 111 norms. (10 + 5)

(F) WRa ¥ eien R Aedieor a1 27 awd # e
TRy Aediiewu & q98a difss T & aieeE ar
W TE Fifrel
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# ==t i

(a) What were the major Banking Sector Reforms in

19917 Explain.

(b) Explain the concept of Margin requirement in the
Futures contract market with the help of an

example. (7 + 8)
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6. (a) Compare and contrast the arguments in favour
and against the Money Stock targeting vs. Interest

Rate targeting.

(b) How have capital requirement norms changed from

Basel Il to Basel 1I1? (8 +7)

(F) #1 wCheh AT TR A o A0 B 987 3R
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(¢) Using the money multiplier approach, explain the
money supply response to changes in the following

variables

(i) Fall in (C/DD) ratio

(i) Fall in (TD/DD) ratio

(iti) Decline in reserve ratio (6 +3 + 6)

() e T D FherT A freAfeaa dehe-ene q2)
&1 faaeen Hifse
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(iii) FRufaed fam =1 ot
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(i) (R/98) o ¥ fimae

(i) (S /88) sue § firae

(i) sferd saa § fFREe

2. (a) A bank with market power charges different
interest rates to borrowers with good and bad
credit risk under symmetric information and same
interest rate under asymmetric information. Explain

with the help of graphs.
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(i) Which of the three models of term structure is

relevant in this case?
(i1) What is the shape of the yield curve?
(111)What is the yield on the three-year bond?
(% +5)
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(b) “Equity contracts are subject to a particular type

dOd AT S of moral hazard called Principal-Agent problem™.
d—aé }"w—_— - 7 6:/° - | Discuss the above statement and the tools to solve
__j:iﬁj ;Ej@“g:fv:ﬁm = ;;‘: Principal-Agent Problem. (8 + 7)
FAarlr wiasy Ay 9% '
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5. (a) Compare and contrast the degree and nature of

(@) ‘s FEy vw fagw yer @ Afw Sifew @
T B # R fifeer - vole swen e war 27
IR AT R PR - woie e A g = D
YA W owE ol

the banking crisis that took place in two separate
episodes, i.e., 1997-2002 and in the aftermath of

2008 Global financial crisis.

(b) Suppose investors prefer one-year bonds to three-

. 3. (a) Consider a put option for a unit of Asset ABC
year bonds and will purchase a three-year bond :

; ) .. with a strike price of Rs. 150. If the option price
only 1if they expect to receive an additional 3

_ is Rs. 5 and the current price is Rs 150, contrast
percent over the return for holding one-year bonds.

. , the long-put position with the short put position
Currently one-year bonds yield 4 percent, but

. . , . using a table and graphs.
investors expect this yield to rise to 6 percent

next year and to 8 percent the year after.

P.T.O.
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(b) Determine the short and long-term interest rates
under segmented market hypothesis. What is the

rationale for the hypothesis? (10 + 5)

(%) wde TEE @ v gEE @ forw 150 TR A wEw
FFE & A9 U I Sitee W R Fif afe sitesr
F M 5 T B IR adHT @ 150 T ?, @t
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e fufd @ 9= s Fifs
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® Fuifa #fom aReemn & sifeea @ 27

4. (a) Amit’s father plans to purchase a $ 10,000 Car
when he graduates school five years from now.
Calculate the amount he needs to invest in each
of the following small saving instruments today at
the given interest rates compounded annually to
be able to purchase the car. Which saving

instrument requires him to invest less and why?

1021 7

Y

Saving Instrument Interest Rate

Savings Deposit 6%

5 Year Time Deposit in a Bank 7%

National Saving Certificate 8%

Employee Provident Fund 9%

(b) Explain the Goodhart’s critique of the Money

Multiplier approach. (8 +7)

() sfm = fomr &t Ao 2 fF w19 98 9 A e e
A wEE BN, d 98 $10,000 F ER @AM FN
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